CSELEKVO RAGOZAS

PAST PRESENT FUTURE
SIMPLE + V2 +V(s) + WILL +V
: l2+n0t+V - -+n0t+V - WILL + not+V
4 2 +xy +V g +xy+V|? WILL +xy+V
(kivéve alanyra (kivéve alanyra
kérdezéskor) kérdezéskor)
CONTINUOUS + BE2 + Ving | 1+ Ving + WILL +BE + r
- BE2 +not+ 1+ not + Ving | - WILL + not + BE +
2 +xy + 1 +xy + V-
2 WILL +xy + BE +
Ving
PERFECT
SIMPLE + .2 +VQ + WILL + HAVE + |
| 2 + not + \%
- WILL + not +
FAVE + VB
? WILL + xy +
_l’_
CONTINUOUS + |+ WILL + +
BEd - Vi
+not | - WILL + not +
HAVE + BES + Ving
+xy | ? WILL +xy +

B B+ Vi




SZENVEDO RAGOZAS

PAST PRESENT FUTURE
SIMPLE 2+VE 1+V3 + WILL + BE + VF
2+n0t+ - 1+n0t+ - WILL + not +
+ Xy + 9 1 +xy + +V3
?JWILL + Xy +. +
V
CONTINUOUS 1 +BEing + VB o
1 +not+
PERFECT
SIMPLE + WILL + HAVE + |
BE§ + v3
- WILL + not +
FAVE - BE§ + V3
? WILL + xy +
+ +
CONTINUOUS ©

V = verb (ige)

V2 = past of verb
V3 = past participle of verb
Xy~ =’so and so’, subject (a mondat alanya)
”BE1” = jelen id6kben ragozando: am / are/ is
”BE2” = mult idékben ragozandd: was / were



